
sinh 𝑥 =  
𝑒𝑥 − 𝑒−𝑥

2
 cosech 𝑥 =  

2

𝑒𝑥 − 𝑒−𝑥
 

cosh 𝑥 =  
𝑒𝑥 + 𝑒−𝑥

2
 sech 𝑥 =  

2

𝑒𝑥 + 𝑒−𝑥
 

tanh 𝑥 =  
𝑒2𝑥 − 1

𝑒2𝑥 + 1
 coth 𝑥 =  

𝑒2𝑥 + 1

𝑒2𝑥 − 1
 

cosech 𝑥 =  
1

sinh 𝑥
 coth 𝑥 =  

1

tanh 𝑥
 

sech 𝑥 =  
1

cosh 𝑥
 tanh 𝑥 =  

sinh 𝑥

cosh 𝑥
 

cosh2 𝑥 − sinh2 𝑥 =  1 1 −  tanh2 𝑥 =  sech2 𝑥 
coth2 𝑥 − 1 =  cosech2 𝑥 cosh 2𝑥 = 2 cosh2 𝑥 − 1 



sinh 2𝑥 = 2 sinh 𝑥 cosh 𝑥 cosh 2𝑥 = 1 + 2 sinh2 𝑥 

tanh 2𝑥 =
2 tanh 𝑥

1 +  tanh2 𝑥
 

cosh 2𝑥 = cosh2 𝑥 + sinh2 𝑥 

sinh(𝐴 ± 𝐵) =  sinh 𝐴 cosh 𝐵 ± cosh 𝐴 sinh 𝐵 
cosh(𝐴 ± 𝐵) =  cosh 𝐴 cosh 𝐵 ± sinh 𝐴 sinh 𝐵 

arsinh 𝑥 = ln(𝑥 +  √𝑥2 + 1) arcosech 𝑥 =  

arcosh 𝑥 = ln(𝑥 +  √𝑥2 − 1) arsech 𝑥 =  ln (
1+ √1−𝑥2

𝑥
) 

artanh 𝑥 =
1

2
ln(

1+𝑥

1−𝑥
) arcoth 𝑥 = 

 


